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1 Introduction
In RAN4#94e, In WF [3], the ACS and IBB for FR1 is as follows:
· For IAB MT ACS requirement:

· Option 1: reuse the BS requirement as 46dB ACS

· Option 2: reuse the UE requirement as 33dB ACS

· For IAB MT IBB requirment
· reuse the BS requirement if 46dB ACS applied for IAB-MT

· Option 2: FFS if 33dB ACS applied for IAB MT

In this paper, we address our opinion on the ACS and IBB for IAB-MT for FR1.
2 Discussion
2.1 ACS and IBB
It seems most of companies tend to not define the fixed physical separation in the IAB-MT class definition and thinking may be to leave the network deployment flexibility for the operator. We have done some coexisting simulation to compare different min distance to adjacent network and see what the flexibility the IAB can provide when using either BS type ACS and UE type ACS. 
BS ACS is 45 dB in FR1 while UE FR1 ACS is 33 dB. From the coexisting simulation result for FR1, we have compared the cases when IAB-MT using either BS ACIR and UE ACIR with different network shift. The simulation is for layout 2 and scenario 1 (MT transmit on uplink time slot) and the UE throughput (access link) is evaluated for IAB (aggressor) to IAB (victim) in Figure 1.  As the IAB network downlink transmission is using the BS ACLR (IAB-DU), thus for the IAB-IAB scenario in Figure 1, the downlink shows the performance difference between the BS type ACS and UE type ACS on IAB-MT.  For uplink, it shows the ACIR impact (both ACS and ACLR). In Figure 1, using the BS ACS has advantage at the low cell load for the cell edge user while the advantage become obvious for 20m shift compared with 50m shift case. 

 As such, we think reusing the BS ACS will provide more flexibility on IAB deployment for FR1.
Proposal-1: use the BS type ACS and IBB for IAB MT on FR1.
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Figure 1: 5th percentile User throughput for IAB(aggressor) to IAB (victim) with 20m and 50m shift in different traffic load situation. 

3 Conclusions

In this contribution, we present our view on ACS and in-band blocking with below observation and proposal:
Proposal-1: use the BS type ACS and IBB for IAB MT on FR1.
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